HmEk K4-Z

E5 HRES BE &E M8 YR #%E
1 P-70677 1 iy TR—Z 4 F4B>

2 P-42071 2 NIV (KA-2) Sus

2-1 P-31005 2 ITINIDUYT (KA) L=

3 D-00010 2 FAT 754 (K4) Foay 153D

3-1 P-30465 2 =L (K4,Q4: $110) §ATIHABTIOEE
4 P-41341 2 TL—h(K4-Z: ¢ 54,SUS)EHY Sus 54D

4 P-41342 2 FL—k(K4-ZT: ¢ 44,SUS) EHY Sus 44Dx5t Y ATABTIIDIER
5 P-31028 2 RTL—hk (K4-T: ¢ 45) L= 44D ¥ AT I DEE
5 P-31080 2 RFL—k(K4: ¢ 55PP) L= 55D

7 P-41376 2 $5—(K4,K6:39mm) #5123 39L

7 P-41611 2 H5—(K4,Q4: 45mm) #%123 45L ¥ ATIADTIDBE
7 P-42456 2 $15—(K4,Q4 : 45mm) SUS316 45L 1793y
9 P-30505 2 L—ILTyi (M6, SUS+HZRJL) SUS+=k!JJL M6

9-1 P-10372 2 —ILT v (M6,SUS) SuUs M6 § AT IOEE
9-2 P-30517 2 TI7AVH Ry (M6, T70Y) TF7ay M6 ¥ AT TIIDRE
10 P-30911 8 A R 4wk (M5) £ M5

10-1 P-30989 8 T70UH R4y (M5, F70Y) F7ay M5x1tx10D

13 P-10840 2 ERES (M6,54E16mm) Sus M6, 5+ Z16mm

15 P-70446 2 7V r—R 4

16 P-42445 1 LT (K4,Q4:40x159) SUS303 40x159

16 P-42446 1 LT (K4,Q4-T: 36x168) SUS303 36x168 ¥ AT IS
17 P-41634 1 F—LTL—bk

17-1 P-42201 1 F—LTL—MHERH/\—30924 ) 1793y
17-2 P-42266 1 F—LTL—MHERH/\—31228F) 1773y
19 P-30132 1 < 75—/3yk IN—L

20 P-80087 1 Y& /\LTHE

23 P-10513 1 I7/N)LT(1/47) BiL(FFLay) FCMB 1/4”D 1%y
24 P-30923 1 HEH/N— F40y

24-1 P-30924 1 BESADNA— (R DAT) e = 3/8” 1773y
24-2 P-31228 1 R H/\— (i@ 3/8" O, TILART) F4ay 3/8” 1773y
25 P-31499 1 HRA RN -, UGK1230N) UGK1230N

25-1 P-30941 1 HRG vk (HERH/3—30924, 31228 ) UGK1230N WLV
32 P-42191 2 ABVR(K41=H0O) %

36 P-30933 2 R kv 8—(25D) Nk 25D

48 P-30944 1 AR KA )

48-1 P-30943 1 BSHAF PFA

51 P-70444 1 A2 =R—JLF#E (K4-2) sus

52 P-70445 1 T b<=R—)LR#E (K4-2) sus

56 D-00021 4 R—ILsN LT (K4)

59 P-30724 8 AR (K4 N V7 9—h770Y) T7AY 1793y
59 P-31562 8 HRT I (K4: 8 )LT—RF,UGK1240N)  UGK1240N

60 P-10510 8 NARILE (M8x22,SUS) SuUS M8x22

60-1 P-10867 8 S EE£(M8,SUS) Sus M8

61 P-10714 12 FryTHRILMMEx22,SUS) Sus M6x22

62-1 P-10644 2 A1) 21— (M4x16) S M4x16

62-2 P-10645 2 A9 2—3D(MAx12)7 5% #% M4x12 WAV
62-3 P-10643 8 A1) 1 —H D (M5x12) £ M5x12

62-4 P-10777 4 FARINRD (MEx12/\REEL A) E5S M6x12

69 P-10333 2 L+ vk (M6,SUS, 31 2%&) Sus M6

73 P-10192 12 INREE(M6,SUS) sus M6

73-1 P-10539 12 SERES K(M6x13,SUS) Sus M6x13D

73-2 P-10259 4 JINREEE(M8,SUS) SuUs M8

75 P-10280 12 FNEF v (M6:SUS) sus M6x1

80 P-30072 4 05 (P5,=kYJL) =k 5D

83 P-10009 1 ZwAIL(1/47) FCMB 1/4” 173y




. K4 PUMP (Z type)

Mode |
JAVEAT IS5 LDIEES

3 T

) A Fvavcd




